Expand[ (Sum[t*k, {k, 6}]) ~10]

10 110 t' + 55 £12 + 220t + 715t + 2002 t'° + 4995 t'° + 11340 t'7 + 23760 t*% +
46420 t'° + 85228 t%° + 147940 t* + 243925 t?? + 383470 t» + 576 565 t2* + 831204 t° +
1151370 t%° + 1535040 t27 + 1972630 t2° + 2446 300 t*° + 2930455 t*° + 3393610 t>! +
3801535t + 4121260t + 4325310t + 4395456 t% + 4325310t + 4121260t +
3801535t + 3393610t +2930455t* + 2446300 t* + 1972630 t*? + 1535040 t** +
1151370 t* + 831204 t*° + 576 565 t*° + 383470 t*7 + 243925 t** + 147940 t*° + 85228 ¢*° +
46420 t°' + 23760 t°% + 11340 t> + 4995 t°* + 2002 t%° + 715t + 220 t°7 + 55 t°% + 10 t°° + t%°

o
4395456
P(X = = —— — ~7.27%.
(X'=35) = Goase176 ~ 12T
¢ 55
P(X =58) = — >~ -7

(X =58) = toage176 ~ 0 < 10

@ etc.






